/10,63 A fluid with p = jg-s k5

flows through the 8-¢m ff'iha"uzed -]
e flow rate for the condit;

nd p = 900 kg/m’

ron pipe. Estimate

10ns shown in the figure,

1 PROBLEM 10. 63

Solution:
Ay 1
Ax 10
30
———3 Az in energy equation.

I} ZZ _P ZZ+Z +h,

150 000 120 000

900x9.81  900x9.81 -
h, =0.398m

12 Ds/2 2ghL v
Re £12 _ L =+/30? +3% =30.15

1% L

0.08%2 (2x9.8x0.398
10°° ( 30.15
k,/D=1.9x10"°

f =0.026 from Moody diagram

Re f¥2 =

12
j =1.15x10*



L V?2
h = f——
From "L D 2g

V = \/(%](%)29 =0.895m/s

Q=VA=45x10"°m%/s




